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QUESTION 1

What is the source IP address in an OSPF update?
A.224.0.05

B. 224.0.0.6

C. The unicast IP address of the interface the update is sent on
D. The system address of the router.

Correct Answer: C

QUESTION 2

An interface has a MAC address of 24-16-4d-16-b5-3d. What link-local address will be assigned to this interface?
A. fe80::2416:4dff:fe16:b53d

B. fe80::2616:4dff:fe16:b53d

C. ff80::2416:4dff:fe 16:b53d

D. ff80::2616:4dff:fe 16:b53d

E. fd80::2416:4dff:fe16:b53d

Correct Answer: B

QUESTION 3

If two routers running 1S-IS protocols are exchanging Hello packets with different authentication types, which of the
following statements regarding the adjacency state established between them is true?

A. Different authentication types are not possible because IS-IS only supports password authentication.
B. An adjacency will not be formed

C. The two routers negotiate the authentication type and then reach the up state.

D. Only an L2 adjacency will form, as long as both routers are L2 capable.

Correct Answer: B

QUESTION 4

Which OSPFv3 LSA is similar to the OSPFv2 Type 5 LSA?
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A. AS External

B. Inter-Area Prefix
C. Inter-Area Router
D. Intra-Area Prefix

Correct Answer: A

QUESTION 5

Click on the exhibit.

R6# show router ospf database

OSPF Link State Database (Type : All)

Type Area Id Link State Id Adv Rtr Id
Router 0.0.0.0 i0.10.10.2 10.10.10.2
Router 0.0.0.0 10.10.10.3 10.10.10.3
Router 0.0.0.0 10.10.10.6 10.10.10.6
Hetwork 0.0.0.0 1.1.1.6 10.10.1D.6
Summary 0.0.0.0 10.2.4.0 10.10.10.2
Summary 0.0.0.0 10.10.10.4 10.10.10.2

Age

Sequence

0x80000009
080000005
OxB80000005
Ox80000002
0x80000002
0x80000001

Cksum

Dubedd
Dx233a
Dxdoe

Dx9136
DxcBed

Given the output shown, which router is the ASBR in this network?
A. 10.10.10.2

B. 10.10.10.3

C. 10.10.10.4

D. 10.10.10.6

E. There is no ASBR configured in the network.

Correct Answer: E
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